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ﬂ; Dividing with a Numberline Name Answer Key

Use the numberline to solve each problem. Thefirst ismarked for you. Answers
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Dividing with a Numberline
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Dividing with a Numberline Name. Answer Key
Use the numberline to solve each problem. Thefirst ismarked for you. Answers
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Answers

Name:
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Dividing with a Numberline

Use the numberline to solve each problem. Thefirst ismarked for you.

1) 3

) Jo+2
2) 3

) J+3
3) 2

) 7+ 2

O © =

O[O =

<[ ©O -

MO =

N | © =

i[O =

OO -

4 5/6+6

N~~~ =

©|~ =

|~ =

<[~ -

|~ =

N

|~ =

o~

4
Y 4

LO(LO =

<[ -

M|(LO =

AN | LO =

[ LO =

O -

6) 4
) V-6

N~~~ =

©|~ =

|~ =

<[~ -

|~ =

N

|~ =

o~

6
7 /5+3

g) 2
) /3% 4

O © =

O[O =

<[ ©O -

MO =

N | © =

i[O =

OO -

9) 4
A

1-9 |89]78]67[56]44[33]22[11] 0 |

3

www.CommonCoreSheets.com

Math



ﬂ; Dividing with a Numberline Name Answer Key

Use the numberline to solve each problem. Thefirst ismarked for you. Answers
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ﬂ; Dividing with a Numberline Name Answer Key

Use the numberline to solve each problem. Thefirst ismarked for you. Answers
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ﬂ; Dividing with a Numberline Name Answer Key

Use the numberline to solve each problem. Thefirst ismarked for you. Answers
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ﬂ; Dividing with a Numberline Name Answer Key

Use the numberline to solve each problem. Thefirst ismarked for you. Answers
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Dividing with a Numberline
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ﬂ; Dividing with a Numberline Name Answer Key

Use the numberline to solve each problem. Thefirst ismarked for you.
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ﬂ; Dividing with a Numberline Name Answer Key

Use the numberline to solve each problem. Thefirst ismarked for you. Answers
1) 2/ 0 1 2 3 4
+5 o - - - -
4
? —t—t— ? —t—+— ? —t—t— ? —t—t— ? t 0
1 3 S e 9 11 13 15 17 19
20 20 20 20 20 20 20 20 20 20
2) 5 . 90 1 2 3 4 S 6
/7 =3 WW\? 7 3. 2
| | | | | | | | | | | | |
| | |

N
o ) w o N
W
N w - N l\)\

I I I
1 5 7
21 21 21 21 21 21 21 21 21 4. 0
3) 3, . 0 1 2 3 4
/43 4 ————4 ——  —4 —— 4 Z 5=
. | | | | | . | | . | | I
1 3 S e S 11 6 8
12 12 12 12 12 12
2
) Y. O 1 2 3 4 5 ! 9
5° 5 5 5 5 5
Wm [ R R T I [ R T B I [ R R T I 2

I I I I I . . . .
1 3 5 7 9 11 138 15 17 19 21 23 25 27 29 8 -
30 30 30 30 30 30 30 30 30 30 30 30 30 30 30 4
9 42
8 5% .4 O 1 2 3 4 5 6 z
7" Z/—VW?V_\‘? 7 7
| | [ | | [ [ | | I | | | | I | I |
| I I I | I I I | I I I | I I I | I I I | I I I | I I I |
1 3 5 7 9 1 13 15 17 19 2A 2B 25 2
28 28 28 28 28 28 28 28 28 28 28 28 28 28
6) 3,/ . 0 1 2 3 4
/4% 2 4 A A4 4
| | | | | |
I ' 1 ' 1 ' 1 ' 1
1 3 S e
8 8 8 8
7N 2/ 0 1 2 3
/3 -3 35—~ 3 —~_— 3 3
I : . | . : | : : |
1 3 S e 9
9 9 9 9 9
8) 2/ . 0 1 2 3
I : . : | : . : | : : : |
1 3 S5 e 9 11
12 12 12 12 12 12
9 4, . 0 1 2 3 4 5 6 7
/7-6 (oo N Y NN 1 1 i
L ' L L e L et b r v v b e 1
| I I I I I | I I I I I | I I I I I | I I I I I | I I I I I | I I I I I | I I I I I |
1 3 57 9 11131517 19 21 23'25 27 29 31 33 35 37 39 41
42 42 42 42 42 42 42 42 42 42 42 42 42 42 42 42 42 42 42 42 42
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Dividing with a Numberline
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Dividing with a Numberline Name. Answer Key
Use the numberline to solve each problem. Thefirst ismarked for you. Answers
1) 5/ 0 1 2 3 4 5 6 7 5
+4 =3 = = = =3 = = 3
7 7 7 7 7 7 7 7 7
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Dividing with a Numberline
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ﬂ; Dividing with a Numberline Name Answer Key

Use the numberline to solve each problem. Thefirst ismarked for you. Answers
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